




If you like our products, please tell other customers

If you have problem with our products, please tell us

Domi outdoor living’s Pergola

DOMI OUTDOOR LIVING









I

D     1X E     2X

II

II

1 : 9

A1    4X A2    2X

B1    1X B2    1X

B3    1X B4    1X

C1    1X C2    1X



H     4XG    50X

F2     4XF1     2X

J     6X K     1X

L     1X M     1X

N     1X P     4X





M6*16

M5*16

M5*8M6*20

D18/d6.4*h1.6
M6

M8M8

M8*36

ST4.2X16
ST3.5X19

M5*18

M8

M5*30

1#    2X

9#   12X

2#    4X 3#    200X

4#    8X 5#    14X

7#    44X 8#    40X

10#   2X 11#   2X 12#   4X

13#   6X 14#   2X 15#   4X

6#    32X



S4

S10

S6

S13

16#    1X 17#    1X 18#    1X

19#    1X 20#    1X



01



02



03





Be aware that this hole is reserved 
for the rails of curtains & netting.

Be aware that this hole is reserved 
for the rails of curtains & netting.

05







08



09



10

Repeat the above procedures 
to assemble another side.



11



12



13



14



15



16



17







20



21















Email:domiservice01@outlook.com

Please tell us your order ID when contact. 

Attach photos of damaged part for instant reply.


